

$$3\frac{6}{11} + 2\frac{4}{8} =$$

$$1\frac{5}{7} \times 3\frac{5}{6} =$$

$$5\frac{3}{8} - 3\frac{4}{8} =$$

$$\frac{50}{5} \times \frac{500}{20} =$$

$$\frac{7}{10} - \frac{2}{7} =$$

$$2\frac{2}{5} : 2\frac{1}{4} =$$

$$\frac{1}{4} : \frac{20}{4} =$$

$$\frac{2}{9} + \frac{2}{5} =$$



$$3\frac{6}{11} + 2\frac{4}{8} = 3\frac{48}{88} + 2\frac{44}{88} = 5\frac{92}{88} = 6\frac{4}{88} = 6\frac{1}{22}$$

$$1\frac{5}{7} \times 3\frac{5}{6} = \frac{12}{7} \times \frac{23}{6} = \frac{46}{7} = 6\frac{4}{7}$$

$$5\frac{3}{8} - 3\frac{4}{8} = 4\frac{11}{8} - 3\frac{4}{8} = 1\frac{7}{8}$$

$$\frac{50}{5} \times \frac{500}{20} = \frac{250}{1} = 250$$

$$\frac{7}{10} - \frac{2}{7} = \frac{49}{70} - \frac{20}{70} = \frac{29}{70}$$

$$2\frac{2}{5} : 2\frac{1}{4} = \frac{12}{5} : \frac{9}{4} = \frac{12}{5} \times \frac{4}{9} = \frac{16}{15} = 1\frac{1}{15}$$

$$\frac{1}{4} : \frac{20}{4} = \frac{1}{4} \times \frac{4}{20} = \frac{1}{20}$$

$$\frac{2}{9} + \frac{2}{5} = \frac{10}{45} + \frac{18}{45} = \frac{28}{45}$$

